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Problem Sheet # 2
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Caleulate the axial force in each member of the structural system shown in the
corresponding figure. In each problem, E = 20(109)N/cm?.

= 2 . N
A=10cm sT=0 d—Eem?
15000 N ———>
N
50 cm- - 75cm
oy 3%} Yy @
- T
1 2 3
Figure " ‘1
" A=gem? 6T=0 N
ABen A=acm?

[€— 10000 N

N
75cm 50 cm
v, Uy
. (5] . @ U,
1 2 3
Figure 32
Az 8 wt

L=50cm for all
elements .

8 cm1

Figure 3




[image: image2.jpg]35. Anaxial load P = 385 kN is applied to the composite block shown in Fig, £3.5. D:lermme
the stress in each material. (Hint: : use a 3-node model with two
nodes identical).
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3.15. For the vertical rod shown in Fig. P3.15, find the defiection at 4 and the stress distribution,

Use £ = 100 MPa and weight per unit volume = 0,06 N/om?, (Hint: Introduce weight con-

tribution to the nodal loads into the program and salve using two elements and four gle.
ments). Comment on the stress distribution.
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[image: image3.jpg]3.16. For Fig. P3.16, find the deflection at the free end under its own weight, using divisions of
(a) 1 element
(b) 2 elements
(¢) 4 elements
(d) 8 clements
(¢) 16 elements .
Then plot number of elements vs. deflection.
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